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BESNDN BESNhDH BESNDSN BEShDN
iﬁ%@(%%)%ébf o iﬁ%d)(%f%])%éﬁ o
HERRRORR  (100kn/m?% 82 R TRETRRDER |100kN/m % 122 HR 1
ADKES | tRE (HOKRES| tR%E [HOKES| tR%E (HOKES| +1% ADKES | tRE |ADKES| tR%E [HOKRES| tR%E (HOKRES| tR%
DI5bRR| OFS (D3BERR| OFs |D36HRK| OFs |[D3HHEK| OFs D bBRR| DOFES |D36HK| OFE |D356HK| OFE |D3HHEK| OF
nHLO nHLO DHLO DHLO nHO nHLO DHLO DHO
(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1 ~ 2 139.9 1.0 100.0 1.0 - - 13.4 2.1
2 ~ 3 139.9 1.0 100.0 1.0 - - 134 27
3 ~ 4 1425 1.0 100.0 1.0 - - 123 25
4 ~ 5 1425 1.0 100.0 1.0 - - 14.2 238
5 ~ 6 142.5 1.0 100.0 1.0 - - 14.2 2.8
6 ~ 7 129.8 1.0 100.0 1.0 - - 121 24
7 ~ 8 100.6 1.0 100.0 1.0 - - 11.7 24
8 ~ 9 - - 100.0 1.0 - - 10.6 2.1
9 ~ 10 - - 100.0 1.0 - - 109 22
10 ~ 11 120.3 1.0 100.0 1.0 - - 10.9 2.2
11 ~ 12 - - 100.0 1.0 - - 10.4 2.1
12 ~ 13 - - 88.3 1.0 - - 9.5 1.9
13 ~ 14 - - 100.0 1.0 - - 9.9 20
14 ~ 15 111.9 1.0 100.0 1.0 - - 10.6 2.1
15 ~ 16 1184 1.0 100.0 1.0 - - 10.7 2.2
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